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An example of mixed spadix inflorescence is

@ Sensfm Ty 7 soamasl GAte TSIT I?
Dichogamy is

TR@ISHE 74T, 3 -

Pomegranate (Punica granatum) is a type of fruit called

(a1l ( Punica granatum) 39319 % I (-

Bentham and Hooker's system of classification is-

@3N 8 TINGT TN 7eT-

A correct scientific name is

936 % e 9 39-

The largest herbarium in India is

SO IJRS ARAIMOA A1 21—

Name of the book in which Bentham and Hooker's system was published-

@3N 8 IFET CIAFINNG (¥ RVE© 2PN @I ©F JH-

A monocot family with apocarpellary pistil is

236 aFJeTal Sfewena IMe e 670 (R© T8I IF-

Lodiculeis a

AFGIFOT T-




10

11

12

13

14

15

16

17

18

19

20

21

22

Replum is the
NGECIDEEGE

Synandrous stamen is found in the family

JEREE (W IF a7 a6 (9 297-

An example of " Reed Swamp Stage " is
ST TIE S0 SURIT -

Autogenic succession is

ACETS Sfen T 2T-

Which of the following is not the characteristics of a xerophytic plant

faafafiesfam Jur @t oo Sfema @Fey J93-

Which of the following is the anatomical adaptation of halophytes

forsfeife WIS M (@E 799y Sfema FArTfas TSRS -

The usable part of Ipecac plant is
P M Faze WA ze-

Coffee plant is a member of
3% TR (@ (SEd Sfew-

Heterosis occur by

REENY WEbe 2F -

Choose the allopolyploids from the following

fafaesfg Ty @t At SmEEfEEey -

The compound responsible for stomatal opening is

faafafie @esffg J&r @@t Ta9Ed SEeE REel FEF -

In nitrogenase enzyme the following mineral is associated

TREEAS OITIeE [Aaffie (@9 Chab (w7 IF-

Crassulacean acid is commonly known as

T IS 7e-
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Emmerson's enhancement effect proves the presence of

"INEATEE Jfad Tow1 fAmfile FEAftas Satie s FE -

TCA cycle is named after

TCAT®G e @ @EE FEE 9FT dJEFe 3@ ®R-

An example of non-symbiotic, free living, photosynthetic organism is

236 ARSI, Y&, TREEE RIFAPI TEEREI S 24-

Denitrification is the

CaREHET 2 -

Precursor of auxin hormone is
AT FEE T QT (FEF @ Fe T

Cellular totipotency is the ability of a plant cell to

@R GbEER @ 9% @ @@

Which of the following is an example of restriction endonuclease

faf=afde @@t 936 @EFEFE avsFEEEE Surdgd

The 'Golden Rice' is developed from the genes of the bacterium Erwinia uredovora and-

(MMSH TR ST T TJ® " Erwinia uredovora " A8F [ EIET AT aFa-




